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ELECTIVE COURSE : COMMERCE 

ECO-1 : BUSINESS ORGANISATION 

Time : 2 hours 	 Maximum Marks : 50 

(Weightage 70%) 

Note : Attempt both Part - A and Part - B. 

PART-A 

	

1. 	Distinguish between any two of the following : 5+5 

(a) Entrepreneur and promoter. 

(b) Ownership capital and borrowed capital. 

(c) Intensive distribution and exclusive 

distribution. 

(d) Time deposits and demand deposits. 

	

2. 	Write short notes on any two of the following : 	5+5 

(a) Partnership deed. 

(b) Factoring. 

(c) Speculation and gambling. 

(d) Hire purchase trading. 
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PART-B 

Attempt any three of the following questions : 

3. "Company form of organization is most suitable 10 

in the modern times". Do you agree with this 

view ? Explain. 

4. What do you mean by capital structure ? Explain 2+8 

the factors determining the capital structure of a 

manufacturing company. 

5. What is a stock exchange ? Explain its main 2+8 

functions. 

6. Explain the merits and demerits of various 10 
advertising media. 

7. "Foreign trade is an engine of economic growth 10 
in a country". Comment on this statement in 

Indian context. 

8. State the essential characteristics of public utility 6+4 
undertakings. Highlight the problems faced by 

them. 

ECO-1 	 2 



F.31171-1 
difiRT chitisto4 

t~ icy tr-Nu 

tTITER, 2012 

: 

ce-figthrt4ct, 	16-1 

F77:2 T:4 
	

3.7A1M-777 	: 50 

(T- 	 : 70%) 

: 	1_qus5-W ff217 tlus--73 	71r 

	

1. 	F-1 4-1 	d 	fwt 	31.--d7 0171I 	: 	 5+5 

(a) Wcidch 

(b) -ff 24r 	r&t 

(c) 2T1. 	rt fq-d-71 

(d) rH 	rT apt 4-114 1.  •31 4-11 

	

2. 	Fo 	d tf fwty 	t ti 	Ri-u fa-ccrfur- 

(a) Tr*qt 

(b) 	4 1 

(c) TrgT -M-TT T1 

(d) ,3-icist)4 06114It 

5+5 
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